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QUESTION 1

Which three statements are true about usage subscriptions? (Choose three.) 

A. A usage subscription can have either parent or child service points. 

B. A usage subscription can be configured to include only a portion of a service point usage. 

C. A usage subscription can have many service points. 

D. Usage subscriptions are always related to an account. 

E. A usage subscription can have only one service point. 

Correct Answer: ACD 

Reference: https://docs.oracle.com/cd/E38983_04/PDF/MDM_Configuration_Guide_v2_1_0_3.pdf (227) 

 

QUESTION 2

What happens when a device\\'s measuring components are reconfigured (a new measuring component will be read) at
a service point? 

A. A device with a new configuration type is created. 

B. The original installation event is updated with the "removal" (expire old device configuration). 

C. A device with a new configuration type is created. Moreover, a new installation event is created to `install" (new
device configuration). 

D. The original installation event is updated with the "removal" (expire old device configuration) and a new installation
event is created to "install" (new device configuration). 

E. A new installation event is created to "install" (new device configuration). 

Correct Answer: D 

 

QUESTION 3

Which three statements are true in relation to Financial Transaction creation algorithms? (Choose three.) 

A. They control how the payoff balance is affected. 

B. They control when a Financial Transaction is to be swept onto a bill. 

C. They control how the General Ledger details are created as these must always exist against a Financial Transaction. 

D. They control if and how the General Ledger entries are created. 

E. They control how the current balance is affected. 
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Correct Answer: ABD 

Reference: https://docs.oracle.com/cd/E18733_01/pdf/E18368_V1_01.pdf 

 

QUESTION 4

Using a base-supplied algorithm type, what is payment distribution priority typically determined by? 

A. Customer Class and Service Agreement Type 

B. Payment Type + Debt Age 

C. Debt Age 

D. Service Agreement Type\\'s Priority and Debt Age 

E. Customer Class and Debt Age 

Correct Answer: E 

 

QUESTION 5

Which two statements about usage subscription types are correct? (Choose two.) 

A. Usage subscription types define the main billing contact. 

B. Usage subscription types define the time zone. 

C. Usage subscription types define the valid service point types. 

D. Usage subscription types define the recipient of the usage. 

Correct Answer: BC 

Reference: https://docs.oracle.com/cd/E26671_02/PDF/E18186_05.pdf (40, 41) 
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